Given that both sides of an equal sign must have the same value, tick
whether the following statements are true or false.

True

False

1. 3+41=2+2

2. 7+1+2=5+8

3. 6—-4=9-7

4. 10+5=19-4

5. 13+1-3=1+1

6. 12—-8=8-12

7. 3x5=15

8. 94+47=2x%8

9. 4Xx5=5%x2+2

10. 2x3+4+4=2 x(3+4)

11.2xXx6=4+8

12.7x(5-3)=3+7+5-1

13. 11 -14=20-17

14. —4+3=9-10

15. (1+5)x(6—-3)=9%x2+5

16. 2 X 5%2 —4x5=30

17.124+3%x1—-4=0

18. (9 + 7)? = 92 + 72

19. 62 —-4%x6-2%x6=0

20. 25 =23 422

Write 2 statements of your own
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